Multiply and Divide by 10° (D)

Find each product or quotient.

3,294 x 10% = 6,6 X 103 =
5,755 : 103 = 7,428:10° =

3 %103 = 9,8:103 =
0,173:103 = 1,9436 x 103 =
8,4 x 103 = 4,6:10°% =

7,69 X 103 = 2,8187 : 103 =
2,879:10% = 2,1972:10% =
0,1384 x 10% = 4,423:10% =
6,71:10% = 9,4:10% =
4,812 x 103 = 1,8 x 103 =
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Multiply and Divide by 10° (D) Answers

Find each product or quotient.

3,294 x 10° = 3.294

5,755:10° = 0,005755

3 x 10 =3.000

0,173:10°=0,000173

8,4 x 10° = 8.400

7,69 x 10° = 7.690

2,879 :10° = 0,002879

0,1384 x 10°> = 138,4

6,71:10°=0,00671

4,812 x 10° = 4.812

6,6 X 10° = 6.600

7,428 :10° = 0,007428

9,8:10°=0,0098

1,9436 x 10° = 1.943,6

4,6:10° = 0,0046

2,8187 :10° = 0,0028187

2,1972:10°=0,0021972

4,423 :10° =0,004423

9,4:10°=0,0094

1,8 x 10° = 1.800
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